
Two-Digit Addition (B)

30 + 48 = 44 + 13 = 40 + 71 =

48 + 83 = 41 + 63 = 88 + 70 =

94 + 92 = 81 + 91 = 38 + 47 =

22 + 49 = 92 + 52 = 14 + 50 =

83 + 63 = 49 + 40 = 88 + 48 =

22 + 89 = 54 + 28 = 64 + 79 =

99 + 35 = 52 + 51 = 34 + 70 =

14 + 53 = 96 + 29 = 95 + 15 =

76 + 42 = 91 + 35 = 90 + 16 =

23 + 70 = 84 + 92 = 28 + 37 =

65 + 92 = 64 + 53 = 49 + 15 =
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Two-Digit Addition (B) Answers

30 + 48 = 78 44 + 13 = 57 40 + 71 = 111

48 + 83 = 131 41 + 63 = 104 88 + 70 = 158

94 + 92 = 186 81 + 91 = 172 38 + 47 = 85

22 + 49 = 71 92 + 52 = 144 14 + 50 = 64

83 + 63 = 146 49 + 40 = 89 88 + 48 = 136

22 + 89 = 111 54 + 28 = 82 64 + 79 = 143

99 + 35 = 134 52 + 51 = 103 34 + 70 = 104

14 + 53 = 67 96 + 29 = 125 95 + 15 = 110

76 + 42 = 118 91 + 35 = 126 90 + 16 = 106

23 + 70 = 93 84 + 92 = 176 28 + 37 = 65

65 + 92 = 157 64 + 53 = 117 49 + 15 = 64
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